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You completed development and testing for

a project. What is the next stage?

« Evaluation

Design

Testing

Analysis
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represent stored data

A way to show how a system can ask que

stions and make decisions

10 J1gu

What do you call the test that finds out if a

robot has Al?

+Marcus test

Computer science test
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What is ASCII?

A character set used to represent text a

v
nd numbers

A base 16 number set used to represent d

ata on a computer

A number system with 2 numbers used to

represent stored data

A way to show how a system can ask que

stions and make decisions
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G8-Checkpoint 3-Part B

You are training an Al to identify apples and
oranges. You have 20 pictures of apples
and 2 pictures of oranges. The Al is not

good. How can you improve it?

~Have more pictures of oranges
Have fewer pictures of oranges
Have more pictures of apples

Have pictures of pears and strawberries

8 Jlgw

What questions should the computer ask to

e anlh hom bl s e snasien BTN
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5 Jlgw

What must a robot do to prove it is

intelligent?

At must walk on two legs
It must speak different languages
« .1t must take actions based on decisions

It must calculate and solve big equations
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Future job Votes
Police Officer 0
Engineer
Soccer player

Interior designer

Fashion designer

Boys asked 0/8
Girls asked 8/8

.There are only 5 jobs

.No girls were asked

~-No boys were asked

.The engineer has 0 votes

7 Jlgw

You are training an Al to identify apples and

oranges. You have 20 pictures of apples

Aand ) raatiirvae Af AarFrmnmae Tha Al i nat
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What questions should the computer ask to

get to the carrot?

&'
vegetable?
] Tai Ha
e ° =

S

P E
L g

Carrot

Is it a fruit or vegetable? -> Is it a fruit?

f [l
?-> Is it orange

Is it a fruit? -> Kiwi -> Is it a sunflower see

?d

Is it a person? -=> Kiwi
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Which number system has 2 different digits?

Hexadecimal
Denary

Decimal

3 Jlgw

What is the best computational tool to store

records of data?
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What is the best computational tool to store

records of data?

Temperature sensor
Microsoft forms
~Database management software

Infrared sensor

4 Jlgw

You have a video of a meeting. What is the

best way to summarise it?
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You have a video of a meeting. What is the

best way to summarise it?

A presentation using bullet points

Using pictures on a document to explain w

hat happened

Charts and graphs to show the informatio

x
n

Word-processed meeting minutes using

v
bullet points




